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RADICAL EQUATIONS: Worksheet 2

Simplify the following.

1) 45 2 V125 3 /1000 5 8

5 8J2+32 6)  7J3+47-3J3+4J7

N 9x+2x 8 3J/5-2/3-5/5

9 8J/2e42 10)  3J2e5/3 1) Jx+lex+1
12)  5/10e2.2 13)  3Jxe5Vx 1) V2(5++2)
15 2J2(7++2) 16 3(/3+5V2) 1) 4/2(V2-3)
18) 3 199 L




20)

S

Solve each radical equation.

22)  Jax =6
25)  \/gt—-8=20

28)  Jsb+4+6=13

23)

26)

29)

3
21)
X+2
V3x =12 24y [x-2=3
VIx-1=1 27y Ix+7-4=-1

V12t —9=-3 30)  Jx+2+8=9
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RADICAL EQUATIONS: Worksheet 2

Simplify the following.

1) 45 2) /125 3) /1000 4 8
35 5.5 10410 22
5) 82 + 32 6) 7347 -3J/3+ 47
1142 43 +5/7
7 9x+2Vx 8) 3v5-2v3-5/5
11X —2J5-23
9) 8J2e42 100  3J2e5/3 11)  Jx+le/x+1
16 15\/6 X+1
1) 5/10e2y2 13)  3Jxe5Vx 1) J2(/5++2)
20+/5 15x J10+2

15 242(7+42) 1) 3(/3+52) 1) 4/2(2-3)

1442 +4 3+5J6 8-1242
3 1

18) ﬁ 19) g
3 5 35 1,2 V2
5B 5 J2 20 2
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Solve each radical equation.

22)

Jaw =6
]

w=9

23)

=62

25)

JBt—8 =20
g\/8t —g) =20°

t —8 =400
8t =408
t=>51

26)

28)

\J5b+4+6=13

Job+4 =7
g\/5b+4)2=72
b4 =49
5h — 45

b=9

29)
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3
21)
X+ 2
3 Ix+2 3Vx+2
VX+2 AXx+2 X+2
J3x =12 24)  x-2=3
g\/B_x)z ~12° (Wx—2f =3
x =144 X—2=9
X =48 x=11
VOx-1=1 27) X+7—-4=-1
g9x—1)2:12 Jx+7=3
x-1=1 (Vx+7f =3
9Xif X+7=9
x=2 X=2
9
V12t —9=-3 30)  Jx+2+8=9
12t =6 Jx+2=1
2 2
(vizt) =s? (Wx+2f =12
12t = 36 X+2=1



